





A, B, C start at the same time in the same
direction to run around a circular
‘0 stadium. A complete a round in 10
minutes, B and C complete in 12 and 15
minutes respectively. In how many
rounds, they will meet together awarding

dR to A?

A, B, C T & §HT A T+ & & & & Ma=sR
&"GM REF F I IR A F AT R FA T A
IO 10 fAsIc & U 996 QU Fam ¢ B 3R C FA:

12 3R 156 Aee A QU A ¢ A § @R 9

ﬁmﬁﬂm#mmﬁav’r?@

(a) 3 (b) 4

(c) S




\ \ {2 There are 8 buses raining from kota to

Y Jaipur and 10 buses running from Jaipur

V| to Delhi in how many ways a person can

D travel from kota to Delhi via Jaipur by
Bus?

8 a8 T § T alsch ¥ 3R 10 T/ SAR
33 3 Rodht dlseht & Aot ol ¥ v e Fhe
" ¥ ool SR awelt @@ & AT FX FHaT P

8 )( \O= gD 480 '
(b) 8
(c) 10
(d) None of these




Two trains, one 16om long and second

-qc_-}oz___ GK‘V"‘l,h X m long were traveling in the same

direction on parallel trails. The 16 @m long

Q _i“'l (5 train come from behind at a speed of 76
K km/hr and nverbuk the x m long train

travelling a speed of 70 km/hr for 3
p '60-‘-'x_ minutes at least some parts of the two

trains overlapped. What is the value of x?

,60','7('-'-"- 5.(—53;) mﬁt.{aﬁxmaﬁm

} 9eRAT 9T UH &I f&em & Imar T @ 9 16 ©m

= 0 oFdl &7 76 km/hr $T afd & ¥ § 3 &

HX 70 km/hr & 7Ifd & IET F @ x AKX

aFdl T A Nd FX AT § 3 Aee & fAw gt

(a) 144 140 TN F A ¥ A 3o REA 1 Ffdea R
(c) 150 (d)160 Frar & x +71 AW FaT #7



A B ‘The distance covered by A in 10 hours is
N y 27 km less than the distance covered by B

in 12 hours. The distance covered by B in

ﬁx\'{‘j — Jox=2F 1

8 hours. Is 7— km more than the distance

_|§ covered by A in 9 houra If they start
- moving towards each other from the two

ends of a road, 4.2 km in length at the
same time, they will cross each other

@ after.
A Z@RT 10 W2l # @ & 7§ gt B q@RT 12

L__L‘ uel $1 a7 1 715 gt & 27 fFedley 7 ¢ B
_\t’ qusdﬁﬁatraﬁrnéaﬂTAmgdﬁ#
= MWW X

——



7 T g A 7 Peeer few ¥ 4.2

frattey oFdl w3 & alEl BRI @ TF qay
AR a1 YT WA £ I AT F qEl fHaa

&T 91 IR HLar?

(a) 23% Minutes

24 Minutes

@ (c) 24% Minutes

(d) 25 Minutes



Time taken by A to cover 252 Km is 1 hour
more than time taken by B to cover 324
Km, if B doubles its speed then it takes 4
hours less to cover the respective

distances. Find time taken bz A to cover
324 km?

,ﬁ

A ganrr 252 f&at & gt a7 F A o am
79, B gant 324 At i gt a7 F= # fav
T gAY ¥ 1 g 3w B, IR B aweh afa
FT QNAT FT AaT ¢ At WEfUd g F AT A
H 4 9 FA AT ¢l A @R 324 A B g

Fa # oA o g7 A a i
(a) 6 hrs. AT hrs. @

(c) 12 hrs. (d) 18 hrs.



A train after covering % part of distance

# reduced its speed by 18,.33% and reaches
k I k’l I I certain destination 77 gninutes late. Find

1.13 the time taken by trhin to cover the
complete distance

9T dTell §AT ATd HIAT?

{ (ﬁl ’6 - (a) 9 hour 44 minutes \ \
“‘“’ 9”10 hour 16 minutes C‘J_ S L
(c) 11 hour 26 minutes

(d) 8 hours



Each of the coaches and two engines of a
train is 15 meter long. The train crosses
the 1200 meters tunnel with a speed of 72

km/hr in llminute, how many coaches

4
are engaged in it?

UH T & Ucdd &g 3R g o0 & dJFa1s 15
mamm%
Aee & 72 FdA/ger fr afa & 1200 HAex

.l ) gy T T b, 5 2 A ot W
"'l'—" U 18 @ (b) 19
8 (c) 20 (d) 21




Train A, with a length of 300 meters, is
going in the south direction at a speed of
45 kilometers per hour. Train B, with a
length of 240 meters, is going in the same
direction at a speed of 60 kilometers per
hour, 120 meters behind the rear end of
train A. How long will Train B take to cross

a person sitting exactly in the middle of
Train A?

300 #Hex i TS arely & A, 45 FRareY
gfa gue i aifa F gidor e & a7 W@ 81 240
Hex #r FFars arell ¢ B, 60 fFardler v
gre g I s R A sm@H &, at 27 A
F o Y & 120 Hiex 918 81 &7 A & Aese

(a) 110 second 0\{1224second da & &8 §U AT I TN F & v ¢ B
(c) 120.3 second (d) 100.5 second fygar oy =2




A man had to travel 49 km, which he
\‘ g g Io "z lo divided into six stretches which were

o — —— — V— _(t ct multiples of either 4 km or 5 km.
6 irst four stretches were 4 km, S km,
a ‘10 60 _ﬁm and 10 km. Multiples of 4 km and 5
km were travelled at the rates of 40 and

0 km/h respectively, and between two

consecutive stretches, he resged for six
( € minutes. What was his avarq sEeed (in
m km/h) for the whole journey? S

Us Afed & 49 FdAr i g FE 4, &R

33&-\-2__5:{-”_ —’;_ ;mwmﬁmmmﬁmm

SH'B' 466'?_2' a1 5 Bl 1 &% e A ggd IR REd 4
(a) 34% s, 5 R, 8 Rt 3k 10 Rl 91 4 R
—_ Hﬁx&) (b) 333 ik 5 el & sl A wAW: 40 IR 60

freftraer Y gt & @ fFar = ar, 3R FARE

S‘A)azi 2 Rewt & @1, s oF Bee ¥ v Rem
© ” far an gt I & 3§ itea afa (e
R TR g



Two trains A and B start with uniform
speeds at the same time from points P and

Q respectively towards each other. After
crossing each other, A takes 16 hours to

reach Q and B takes 4 hours to reach P. If
train A is moving with a speed of 54
km/h, the speed of B (in km/h) is:

QY ¢ AR BUF & ¥AT & HAW: g PR
Q ¥ TH-gEY A I FHAW T & ToalT AW
FLAl ¢ TF qEY I IR I F 906, A F Q
% TgA4 A 16 €€ w9 § I B H P TH
\)(’103 TgAA H 4 ¢ @9 g1 AfE ¢ A 54 e

(b) 112
(c) 36 & aifa & I W &, @ B Hr wfx (Refvarer #)

(d) 27 .



(a) 108
(b) 112
(c) 36
(d) 27

Two trains A and B start with uniform
speeds at the same time from points P and

Q respectively towards each other. After
crossing each other, A takes 16 hours to

reach Q and B takes 4 hours to reach P. If
train A is moving with a speed of 54
km/h, the speed of B (in km/h) is:

Y & A 3R B U% & AT # AW [Ng P IR
Q ¥ THgWY I IR FAW afA § IaaT AR
FA &1 TF G F IR I F q0G, A F Q
% UgA4 A 16 W @9d § IR BH PaAw
TgEd A 4 9¢ WA 1 AR & A 54 e
& afa & aIr W@ g, @ B & a1t (Rrel/eer #)
&



A car travels a distance of x km at a speed

o and returns at a speed of S m/s

to the starting point. If the total time

taken by the car is 3% hours, then the

value of x is:

memaﬁqﬂ'sgmlsﬁm#m

FIdl § 91 5 AWAHs A 77 § IS fag
W AGH AT AT ¢1 A FR g@rr fodr a3 Fa

AT 3lue &, a x F7 AW & (a) 40
6 T30
(c) 32

(d) 36



A car travels a distance of x km at a speed

of 5; m/sec and returns at 5 m/sec to

the starting point. If the total time taken
by the car is 7% hours, then the value of

(x + 3) is:
——

v w x Reelt A gl 5 shevids A afy @

g At § AR 5 Aevdss 1 afd F TRES
fig W amw Il 81 3% FR q@arr for =

$ TAY 7§ﬁﬁ,ﬁ(x+3)mmmh
(a) 78




3.33km/h
(b) 51.33km/h
(c) 43.67km/h
(d) 47.67km/h

A man rows from J to K (upstream) and
back from K to J (downstream) in a total
time of 15 hours. The distance between J
and k is 300. The tisue taken by the man
to row 9 km downstream is identjca) to
the time taken by him to row 3 km
upstream. What is the approximate speed
of the boat in still water?

UF HeH F 15 0 H j ¥ k (rawdw) AR
k¥ j (33aw#H) AN AT gl j IRk &
4 #1 gt 300 &FHY &1 4RT F reTHer 9 Al
#r g a7 FA A AfFd gann foar 1 gag
4RT & gfager 3 et #f gt a7 = # 39F
garT fAT 1T §AF F @AW g Aed g A
ATg Y AT Afey Pl g



Burlows 7 20w

Uxlf = S K

A bus starts from a bus station after every
30 minutes in the same Eirectiu « The
speed of each bus nei #h the same
direction. The speed of each bus is the
same. Z is riding a bike in the opposite
direction at a speed of 25 km/h. Z meets

each bus in 20 minutes. What is the speed
of each bus?

UH 99 & 30 PAee & @ig 3¢ fopm & 9
AT ¥ YT A T TAF IW A AT AT g
Z fauRta e & 25 &l /ger 6 afa @ a5+
ToT (T gl Z 9eas a0 & 20 Bee & @ear

¥ uAs @ # ot 4T B?

50km/h
(b) 75km/h
(c) 60km/h
(d) 30km/h

MTS 2021
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For the first part of her journey, Sunita
travelled at a speed of ﬂ m/min and, for
the rest of the journey, at a speed 1.4
times of her initial sped. If Sunita
travelled a total distance of _3_?_._3 kmin 1l

hour, what was the distance that Sunita
travelled at a lower speed?

HYT IET F g T & AT, FeAlar F 450
m/min FT IF F IIET F7 3T AW IIET F AT,
HIAT YRTAF arer Y 1.4 A7 T & AT FN

\2"'5‘&) gfg gellar & 1 a¢ & 33.3 km $ gt a7 #,

>S4 ot et & wor e @ Pty g o

7- (a) 11.15 km
?... (b) 11.20 km
yﬁ 25 km

4\{‘1 T (d) 11.50 km [CEEPLPR



an, A thief is spotted by a policeman from a
P___.., fr ..._!;’ distance of 480 m. When the policeman
starts the chase, the thief also starts

l (4? | 'running. If the speed of the thief is 19

*
km/h and that of the policeman is 23
km/h, then how far would the thief have

5 :23 Iq to run before he is overtaken?
D Q'3 TF IR F 0F gfawsdl 480 m F g F q@ar
q-ﬂgo ¢l gfewsfd S & IR 1 dIeT FIT qT F
14X, 280 3 o it st aoren #1 AR @R A =@ 19
@lﬂ’m"m km/h 3R gfawsAt # @ 23 km/h §, a

(b) 2080 m

AT2280m  UF3 F aF AR e gt aF HIT TH Gme
(d) 2180 m



Sonam is a cab driver, who plies within a
city. The number of kilometres that she
drives on a Tuesday was 12.5% less than
the number of kilometres that she drives
on the day before.

On the other hand, the number of
kilometres that she drives on Wednesday
was 20% more than the number of
kilometres that she drives on Tuesday. If
Sonam drives a total of 336 km on

Wednesday, how many kilometres did she
drive on Monday?

WA TF &d 3B g, o 0 A & Haw &
A3 TATA! §1 AMAAR HI 3HS GaNT dF H M5
gt (FratdeT A), & e g 38F @RI aF



1 5 gt (e #) ¥ 12.5% FA @i
Jafd qUAR F IqE G@RT aF 1 aF gl
(FFFet#IeT A), AT F 30F GaRT aF H T3
gl (FFatefier ) & 20% afw o€ I} |e=
A §YaR F Fd 336 km H gl T $, a

#HaR F 384 Faa Farder g a7 9
(a) 318 km

(b) 324 km ©
20 km
")(:))’215 km

CHSL 2021



A takes 3 hours more than B to walk 'd’
km. If A doubles his speed, then he can
make it in 1 hour less than B. How much

time (in hours) does A require to walk 'd’
km?

A, 'd & 9ot & B ¥ 3 6¢ H0F AT Aar
gl afX A 3ol afy #r e F AT B, @Y 7@
BH 19¢ FF AT A Ig gl aF HT Fahdl ¢l
~4@ A F 'a' Al e A o wwE (Wl #)

s Canowwke. Quex
W©C

(d) 4

SSC CGL 19.04.2022 (1st Shift)



The ratio of the distance between two
places A and B to the distance between
}'—__'——t places B and C is 3 : 5. A man travels from
A A C_ A and B at a speed of x km/h and from B
q $ to C at a speed of S0 km/h. If his average
speed for the entire journey is 40 km/h,

8 Yo then what is the value of (x - 10! : l x+1)?

Y 2 Turat A 3R B dra A gt 3K BAR CH

% S, 1T 1 gt F1 T 3: 5% v AT AR

oy =120 paF xR A a7 T 3R BF CaF 50
(b) 31: 20 5= frefi/aer # aifa & amr Far g1 Ik g I
::')i;icl’ & s sitaa afy 40 Rt ¥, &t (x - 10)

SSC CGiL MAINS 29 Jan 2022 N eIk R k2 By



Two motorbikes 'L' and 'M' started at same
time from same point. The speed of
motorbike M was 87.5% of the speed of
motorbike L. If motorbike L takes 60
minutesless, to cover 560 km, then the
time taken by M. Then find the time taken
by motorbike M to cover 420 km.

X HIe@Ts® ‘L3 ‘MU 3t ffg & o&F & a9y )
TAT L€ FA gl AIE@TsH MHT A, Hiearss LAt
Sﬁonﬁr'ﬁ 87.5% 91| Ife Hewars® L, Mg ferg 1w
jmaﬁwﬁ 560 fFHT FI T T+ & 60 A=
FH GHI AdT gl AT Arearss MaTT 420 fFdr fir @
T HA | o0 T T IH AT HT

(a) S hours (c) Z hours

(b) 8 hours 6 hours




Arun is going from Delhi to Mumbai for a
business trip. He travelled by train to
reach Gandhinagar in 16 hours covering a
distance of 920 km. After a break of 2
hours, he took another train from the
same place to Mumbai, covering the
distance in 12 hours. Arun took a total of
30 hours to cover the entire distance of
1478 km. What was the speed (in km/h)
of the train going from Gandhinagar to
Mumbai?

0T SR AT & fow Reelht & A 1 @ &
¥ 020 fravfiey # gt a7 wF 16 6 A
MR qgaa & e ga a2 e &




A & @1, 3 T & #A9§ F v F 3R
¢ g@RT 12 o¢ # gt aF HI@1 gl HIOT A
1478 fe#AIey #1 g gt a7 F 7 For 30
g F §A7 faan R @ #Ae§ @ arelt
e #r aife (Fe/aer &) sar 4i?
(a) 39.85 NT46.5

(c) 53.5 (d) 49

@ SSC PHASE



When a ball is allowed to fall, the time
it takes to fall any distance varies as
the square root of the distance and it
takes 4 seconds to fall 78.40 m. How
long would it take to fall 122.50 m?

Jq TH g & R ar aar g, ar
ft gt # RS A oot arer &8 7 gt &
A F FIER d@odr Ear ¢ AR W
78.40 HieT RS & 4 AFs FT AT AT

gl 122.50 #Hler Ra & 3@ Faar @a@g
u,irrg seconds

(b) 5.5 seconds
(c) 6 seconds

(d) 6.5 seconds



